
Markscheeze

I TACOGTCAGOCCACCCTCCAATTAAGATTCATT

AUG CCA GUCCG UGG GAGCUN AAU UCUAAG UAAmRNA

met - pro-val-arg-trp-glu-len-asn-ser-lys polypeptide

2 TACOGCTCAGOCCACCCTCCAATTAAGATTCATT

AUG CCG AGU CCO GOG GGAGCU UAAUUC UAA GUAAmRNA

met - pro-ser-pro-val-gly-ala polypeptide

polypeptide is both composed of different amino acids and is shorter. Protein is either going to be different and or non-functional

3 Skin cells are somatic cells (bodycells) and these are not used infertilization and thus cannot be passed onto offspring.
The onlymutations that can be passed onto offspring would need to occur in gametes (sperm /oval and these would need to

be used in fertilization to produce zygote and ultimatelyoffspring
*typically changes/mutations acquired in your lifetime are not passed on as mostoccur in somatic cells

4 Mutagens, like those found in cigarettes and rapes increase the likelihood/rate of mutations butthis is nota guarantee.
Mutations are random events, so we cannot saywith certaintythese chemicals willcause a mutation that leads to cancer

but we can saytheysignificantlyincrease the risk and chance ofdeveloping cancer.

5 If mutations occur in non-coding sections ofDNA, there will likelynotbe an impacton phenotype as protein synthesis notdirectlyaffected.
... as phenotype is maltered, manymutations mayaccumulate without negative (or positive) effects
Ifmutations occur in coding genes these can have a directimpacton phenotype and ifnegative, these will likelynot be passed on often
*more on this in next lesson on evolution

6 Monozygotic (identical) twins are born with identical DNA, as theyare genetic clones.
.ifeach twin was separated and raised under different environments/conditions we could examine which characteristics

remain the same and which are altered.

the more a characteristic changes, the more of an impactthe environment has /less genetic
the more a characteristic remains the same, the more of an impactgenetics have/less environmental

7ideallygraphing programs are used like excel


